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1 package main

2

3 dmport (

4 "fmt"

5 "log"

6 "net"

7))

8

9 func catcherr(err error) {
10 if err = nil {
11 log.Fatalln(err)
12 }
13}
14

15 func main( {
16 laddr, err := net.ResolveUDPAddr("udp", "127.0.0.1:9999")
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catcherr(err)

fmt.Printin(laddr)

// 1 socket 2 bind

server, err := net.ListenudbP("udp", laddr)
catcheErr(err)

defer server.Close()

// AiFEaccept

// 3 Wk
buffer := make([]byte, 1024)
n, raddr, err := server.ReadFromubDP(buffer)

fmt.Printin(err)

msg := fmt.Sprintf("Client=%v, data=%s", raddr, string(buffer[:n]))
fmt.Printin(msg)

server.writeToUDP([]byte(msg), raddr)
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package main

import (
"fmt"
"Tog"
"net"

"runtime"

"time"

func catcherr(err error) {
if err = nil {
Tog.Fatalln(err)

func main() {
laddr, err := net.ResolveUDPAddr("udp", "127.0.0.1:9999")
catchErr(err)
fmt.Printin(laddr)
// 1 socket 2 bind
server, err := net.ListenudDP("udp", laddr)
catcherr(err)
defer server.cClose()
// AiiEaccept

// 3 Wk
buffer := make([Jbyte, 1024)
exit := make(chan struct{})

go func(Q {
for {
server.SetReadDeadline(time.Now() .Add(time.Second))
n, raddr, err := server.ReadFromubDP(buffer)
fmt.Printf("%T, %[1]v\n", err)
if err = nil {



37 if _, ok := err.(*net.OpError); !ok {

38 exit <- struct{}{}

39 return

40 }

41 continue

42 }

43 msg := fmt.Sprintf("Client=%v, data=%s", raddr,
string(buffer[:n]))

44 fmt.PrintIn(msg)

45 server.writeToUDP([]byte(msg), raddr)

46 }

47 110

48

49 t := time.NewTicker(3 * time.Second)

50 for {

51 select {

52 case <-exit:

53 goto EXIT

54 case <-t.C:

55 fmt.PrintIn(runtime.NumGoroutine(), "@@@")

56 }

57 }

58

59  EXIT:

60 fmt.Println(" D)

61 1}
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1 package main

2

3 dimport (

4 "fmt"

5 "log"

6 "net"

7 "runtime"

8 "time"

9()
10
11 func catcherr(err error) {
12 if err 1= nil {
13 log.Fatalln(err)
14 }
15 | }
16
17 func main(Q {
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raddr, err := net.ResolveUDPAddr("udp", "127.0.0.1:9999")

catcherr(err)

// 1 socket
conn, err := net.DialubP("udp", nil, raddr)
catchErr(err)

defer conn.Close()
// AF#Eaccept

// 2 Wk
exit := make(chan struct{})
go func(Q {
buffer := make([]byte, 1024)
for {
conn.SetReadbeadline(time.Now() .Add(time.Second))
n, _, err := conn.ReadFromubDP(buffer)
if err = nil {
if _, ok := err.(*net.OpError); !ok {
exit <- struct{}{}
return
}
continue
}
fmt.Printin(buffer[:n])
}
1O
go func(Q {
var input string
for {
fmt.Scanln(&input)
if dinput == "exit" {
exit <- struct{}{}
return
}
i, err2 := conn.write([JbyteCinput)) // ZHwrite, K’ ADialubDPil4:
FI3E 150 o
fmt.Println(i, err2)
}
10
t := time.NewTicker(3 * time.Second)
for {
select {

case <-exit:

goto EXIT

case <-t.C:

EXIT:

fmt.PrintTn(runtime.NumGoroutine(), "@@@")

fmt.Printin(" )
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